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+ T %% & 4 #
® &) ® @ ® ® @
RUKE | RO |(RER | G s | (e | ok | B
EWINEEES A A= E&&’)
DIP$75 | DIP® 100 At
DP=1.2m DP=1.2m HIVP ¢ 50 | HIVP ¢ 50 | HIVP ¢ 50 | HIVP ¢ 50 | HIVP ¢ 50 | ¢ 50~ ¢ 20
HiE 397 | HE 397 4% 2% 4% 24 DIP ¢ 100 | BiE 3975
AiEERRYIW T t=5cm m| 549.8 14.7 25.0 252.5 5.0 244.0 11091.0 | 1090
E 70 e O A R R R IR I R I B
0.20BH t=10cmlA T n| 164.6 4.6 15.0 141.0 15.0 141.0 1.5 73.2 555.9 560
bk T 0.20BH m| 202.2 5.7 2.3 21.2 2.0 18.5 1.7 80.2 333.8 330
HET (kEL) 0.20BH m 1.2 1.2 1
HET (FBEL) 0.20BH m| 146.3 4.2 69.2 219.7 220
WRERT AR 1 1
) AL 0.20BH m 2.0 18.5 20.5 21
A T e+ m| 39.6 1.0 0.1 0.6 2.0 18.5 1.7 3.3 66.8 67
ASHZH5 T AS m| 8.2 0.2 0.8 7.1 0.8 7.1 0.1 3.7 28.0 28
BAEAE
TEKET t=19cm n| 164.6 4.6 1.5 73.2 243.9 244
RNy v iy R N N R B N I (R S SN R B
HERgET t=15cm n| 164.6 4.6 15.0 141.0 1.5 73.2 399.9 400
BABRET A2 | e
FE T (FE) t=5cm PK3 n| 164.6 4.6 15.0 141.0 15.0 141.0 1.5 73.2 555.9 556




IERAERTER

. i & -
il Ml no neE B £ &
O EKE HE 397 DIP ¢ 75 1.20 274.287  274.3
@ | EKE HE 39%  DIP ¢ 100 1.20 6.988  7.00
@ EREARY HOE 39 miveesoxaz  0.14 25.00
@ EREARRY EHOE 39 miveesoxzz  0.14 235.00
B EREME #HE 39 mveesoxazx  0.14 25.00
® (R HE 39 nveesoxzg 0.14 235.00
@  AREES K HOE 39%  EEEDIPo 100 1.20 1.50
ek HOE 39 ¢ 50~ ¢ 20 38& AT 122.00




+TEHEE
HE 397
Bic K &

DIP ¢ 75mm DP=1.2m

R R DIP ¢ 75 FEbdEE] 124 m
SR 0.05 m R 090 m &+
BIFO 0.075 m B 0.19 m  FlEEE
AR 0.093 m Bx 015 m BB
FHE S RS 060 m AS 0.05 m
PRHI R 274.30 274.30
SRR T
t=5cm 274.30 2 + 0.60 X 2 = 549.8
EfiE R EUE T
As t=10cmPL 274.30 0.60 = 164.6
FE AR T
0.60 1.24 - 0.093 2
7 = 4 ) X 274.30 = 202.2
WERT (B4E+)
0.60 0.90 - 0.093 2
X
7 = 4 ) X 274.30 = 146.3
Ay T4 +) Skt
202.2 146.3  + 0.9 = 39.6
ASTZ4L4y T
164.6 0.05 = 8.2
T E A T
FAYIARA t=19cm 274.30 0.60 = 164.6
RC-40
LT
FARFRE t=15cm 274.30 0.60 = 164.6
RM-40
F=ET
HABRET 270 t=5cm 274.30 0.60 = 164.6
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Bic K &

DIP ¢ 100mm DP=1.2m

R R DIP ¢ 100 MRS 1.27  m
SR 0.05 m B E 093 m %4+
BIFO 0.100 m B 0.19 m  FlEEE
AR 0.118 m Bx 015 m BB
FHE S RS 065 m AS 0.05 m
PRHI R 7.00 7.00
SRR T
t=5cm 7.00 2 + 0.65 X 1 = 14.7
EfiE R EUE T
As t=10cmPL 7.00 0.65 = 4.6
FE AR T
0.65 1.27 - 0.118 2
7 = 4 ) X 7.00 = 5.7
WERT (B4E+)
0.65 0.93 - 0.118 2
X
7 = 4 ) X 7.00 = 4.2
Ay T4 +) Skt
5.7 4.2 - 0.9 = 1.0
ASTZ4L4y T
4.6 0.05 = 0.2
T E A T
FAYIARA t=19cm 7.00 0.65 = 4.6
RC-40
LT
HARFERA t=15cm 7.00 0.65 = 4.6
RM-40
F=ET
HABRET 270 t=5cm 7.00 0.65 = 4.6
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R EATRY 455

HIVP ¢ 50mm DP=0.14m

TR B HIVP ¢ 50 FRdEE]  0.150 m
SRR 005 m BEMEEE  0.150 m  RAEREA
BIFO 0.050 m AR m  FERE
AR 0.060 m AR m B
FHE S RHIE 060 m AS 0.05 m
PRHI R 25.00 25.00 m
SRR T
t=5cm 25.00 X 1 = 25.0 m
EfiE R EUE T
As t=10cmLL T 25.00 X 0.60 = 15.0 m
R ) T
25.00 X 0.60 X 0.150 = 2.3 m
HET (RAENA)
DS Yacta ( 0.60 X 0.150 - 0.060 2
X T - 4 X 4 ) X 25.00 = 2.0 m®
S TRAT) R+
2.30 - 2,00 =+ 0.9 = 0.1 m’
ASTZ4L4y T
15.00 X 0.05 = 0.8 m’
FET
HABRET 27 t=5cm 25.00 X 0.60 = 15.0 m
PK—3
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R EATRR 255

HIVP ¢ 50mm DP=0.14m

TR B HIVP ¢ 50 FRdEE]  0.150 m
SRR 005 m BEMEEE  0.150 m  RAEREA
BIFO 0.050 m AR m  FERE
AR 0.060 m AR m B
FHE S RHIE 060 m AS 0.05 m
PRHI R 235.00 235.00 m
SRR T
t=5cm 235.00 X 1 + 17.50 = 952.5 m
EfiE R EUE T
As t=10cmLL T 235.00 X 0.60 = 141.0 ot
R ) T
235.00 X 0.60 X 0.150 = 21.2 m®
HET (RAENA)
DS Yacta 0.60 X 0.150 - 0.060 2
r =+ 4 X 4 ) X 235.00 = 18.5 m®
S TRAT) R+
21.20 - 1850 =+ 0.9 = 0.6 m’
ASHFHLAS T
141.00 X  0.05 = 71 m®
FET
HABRET 27 t=5cm 235.00 X 0.60 = 141.0 ot
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RRERE 45

HIVP ¢ 50mm DP=0.14m

R R PP ¢ 50 MRS 0.150 m
HEWE 0.05 m FEAR R m  EAERA
IO 0.050 m s m  FERE
AR 0.060 m Bx 015 m BB
FHE S RS 060 m AS 0.05 m
PRHI R 25.00 25.00
EfiE R EUE T
As t=10cmPL 25.00 0.60 = 15.0
FEAR T T
0.60 0.150 - 0.060 2
7 4 X 4 ) X 25.00 = 2.0
A TG4 1) Skt
2.00 0.00 =+ 0.9 = 2.0
KEARGEME A ORD
ASTZ4L4y T
15.00 0.05 = 0.8
LT
HAERREE t=15cm 25.00 0.60 = 15.0
RM-40
F=ET
HABRET 27 t=5cm 25.00 0.60 = 15.0
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HE 397
RREmE 25

HIVP ¢ 50mm DP=0.14m

R R PP ¢ 50 MRS 0.150 m
SR 0.05 m FEAR R m  BAERA
BIFO 0.050 m AR m  FERE
AR 0.060 m Bx 015 m BB
FHE S RHIE 060 m AS 0.05 m
PRHI R 235.00 235.00 m
S IR U T
As t=10cmLL T 235.00 X 0.60 = 141.0 ot
R ) T
0.60 X 0.150 - 0.060 2
r =+ 4 X 4 ) X 235.00 = 18.5 m®
S TRAT) R+
18.50 - 0.00 = 0.9 = 18.5 m®
SKEAR RGO
ASHFAHLAS T
141.00 X  0.05 = 71 m®
LT
FARFIRA t=15cm 235.00 X 0.60 = 141.0 ot
RM-40
FET
BABRIET 27 t=5cm 235.00 X 0.60 = 141.0 ot

PK—3
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HE 397
RSy 7K

DIP ¢ 100mm DP=1.2m

R R DIP ¢ 100 M) 1.150 m
SRR 005 m B E  0.810 m PRk BE 1+
BIFO 0.100 m B 0.19 m  FlEEE
AR 0.118 m Bx 015 m BB
FHE S RS 1.00 m AS 0.05 m
PRHI R 1.50 1.50
SRR T
t=5cm 1.00 2 + 1.50 X 2 = 5.0
EfiE R EUE T
As t=10cmPL 1.50 1.00 = 1.5
FE AR T
1.50 .00 X 1.150 = 1.7
WERT (hpktkB 1)
1.50 .00 X 0.810 = 1.2
A T4 +) Skt
1.70 0.00 =+ 0.9 = 1.7
sehpiki B+ o720
ASTZ4L4y T
1.50 0.05 = 0.1
T E AT
FAYIARA t=19cm 1.50 1.00 = 1.5
RC-40
LT
HARFERA t=15cm 1.50 1.00 = 1.5
RM-40
F=ET
HABRET 27 t=5cm 1.50 1.00 = 1.5
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FEs R

HIVP ¢ 50~20mm 38 it

RS HIVP ¢ 50~ ¢ 20 M) 1.100 m
SRR 005 m BEE 0950 m %+
FHE BIFO 0.050 m BAX 019 m BB
AR 0.060 m Bx 015 m BB
PEH IS 0.60 m AS 0.05 m
PRHIZE R 122.00 122.00
SRR T
t=5cm 122.00 2 = 244.0
SRR U T
As t=10cmPL T 122.00 0.60 = 73.2
FE AR T
0.60 1.100 - 0.060 2
7 = 4 ) X 122.00 = 80.2
MERT (B4+)
0.60 0.950 - 0.060 2
7 = 4 ) X 122.00 = 69.2
A T4 +) Skt
80.20 69.20 + 0.9 = 3.3
ASTZ4L4y T
73.20 0.05 = 3.7
T E AT
FAYIARA t=19cm 122.00 0.60 = 73.2
RC-40
LT
FARFRE t=15cm 122.00 0.60 = 73.2
RM-40
F=ET
HABRET 270 t=5cm 122.00 0.60 = 73.2
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GXj¥% ¢ 75+100mm

& OB L B * #oOR | B AL
3 Eil B T ® 75 271.6 m
3 Eil B T ¢ 100 7.0 m
o8k B @ W L o 75 20 H
o8k @ W L ¢ 100 4 H
B & T EE+HRY ¢ 75 68 H
% & T | EE+HY ¢100 1 |
B & T RE 675 19 |
B & T BIE ¢ 100 1 |
% & T PU>7 ¢75 7 |
% & T GU>7 ¢75 15 |
% & T GU»7 ¢ 100 7 A
fTow & B LT ANF1 675 8 5
At ERBEBEL AT, 15 8 &
WOk B OR OB L N1 HA 2 &
ook o B OE T AF1 B 1 &t
7 7 v vV % F T 675 7 m]
VY vay -y ) AR B T M35 3 &
AT = vk FE T Rk ¢ 75 2 A
AT = vk FE T Rk ¢ 100 1 A
W or 7T — 7 T o 75 319.6 m
W or 7T — 7 T ¢ 100 10.4 m
# B r v — b L 275.6 m
BE &% & Mk F W4k L T GU>7 ¢75 1 |
BE &% & Mk F 4L LT TIY ¢ 75 1 |
BE &% & Mk F 4L L ¥k DIP ¢ 100 2 H
BE & & @ W L VP ¢ 75 3 H
BE & & @ W L DIP ¢ 75 2 H
BE & & @ W L DIP ¢ 100 2 H
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viris

NS
5 M B R
[N AT VA s AT VA =
gl W e T zpiE BT FHTE 77 R | s wo | TR ke | w o |
[5Eed it Fp A ! ke ik !
15x200 —HER | pissn yioo AR e
Py 5 = o 09 1 /90 o 09 1 /90 o . 6 75% 6100 6 75% 6 100X . it . 75X 200 #t O
(=g N Ik it 111/4 22 1/2 45 221/2 45 H300 H450 075 ot 075 ot 754400 | T75%200 754200 o o B -t
GX ¢ 75 DP=1.2m 55 13 68 5 2 1 1 1 3 3 1 2 1 2
it 55 13 68 5 2 1 1 1 3 3 1 2 1 2
1 2 1 2
GX ¢ 100 DP=1.2m 2 2 1 1
i 0 2 2 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0
- . . X . s s o A R = AWk
TR WRIREE | o0 e | HERTREE | L S I s | BB e A Zomie | R .
Lt PATR | e | s | e | e i | TS st | s | Gus |BER 6 e BA e R L B
B so0xe90 | so0xe90 | 910X 975 il i " e 75 DIPF FRET | veets
GX ¢ 75 DP=1.2m 2 1 1 1 1 1 4 8 19 13 7 15 1 1 1
it 2 1 1 1 1 1 4 8 19 13 7 15 1 0 1 1 0
2 1 8 178 276.6
GX ¢ 100 DP=1.2m 2 1 1 7 1
i 0 0 2 0 0 0 0 0 0 1 1 0 7 0 1 0 0 0
fLoise | acsgei | AR | PR L o fﬁfﬁw ﬁszw B B BERGHET | BERRMET | BESGET
o " . . e i i i T | I | kT Ak Yl T Yl T iy P i TN i TN i TN
. . o ) o e 1 ) X [EL AXIEL X [ 7z 7 ok FEHH T A T
NS AL 15 AN AN vl " RS ek VP DIP L5773 Gy | 7Y
20 68 19 7 15 319.6
GX ¢ 75 DP=1.2m 271.607 7 2 3 2 1 1 1
# 271.607 20 68 19 7 15 8 7 0 2 3 2 319.6 1 1 1
8 2 1 7 3 276.6
4 1 1 0 7 10.4
GX ¢ 100 DP=1.2m 6.989 0 1 2 2 0 0
= 6.989 4 1 1 0 7 0 0 0 1 0 2 10.4 2 0 0




MR E
GXJ ¢ 75mm e M E B 274.287
DP=1.2m B A AL R 271.607
) B B 1% MEHE R B & s R

A & GX%# 4.000 55 220.000
Sl 4 (1 GX& 3.500 1 3.500
H =l H GX# 1.600 1 1.600
Sl 4 (1 GX& 2.500 1 2.500
H =l H GX# 1.780 1 1.780
Sl 4 (1 GX& 2.580 1 2.580
H =l H GX# 1.700 1 1.700
Sl 4 (1 GX& 1.500 1 1.500
H =l H GX# 2.580 1 2.580
Sl 4 (1 GX& 1.000 1 1.000
H =l H GX# 2.080 1 2.080
Sl 4 (1 GX& 2.960 1 2.960
H =l H GX# 2.880 1 2.880
Sl 4 (1 GX& 1.500 1 1.500
Z ] & GX& 2.280 1 2.280
Z 15| “ GX& 1.500 1 1.500
Z ] & GX& 1.200 1 1.200
Z 15| “ GX& 2.000 1 2.000
Z ] & GX& 1.000 1 1.000
Z 15| “ GX& 1.830 1 1.830
Z ] & GX%# 2.500 1 2.500
Z 15| “ GX& 2.800 1 2.800
Z ] & GX%# 1.500 1 1.500
i 1 11 1/4° 0.340 5 1.700




MRS

GXJ ¢ 75mm e M E B 274.287
DP=1.2m B A AL R 271.607
) B B 1% MEHE R B & s R
i H 45° 0.400 2 0.800
] =< i (4 22.1/2° 0.100 1 0.100
] = ith H 45° 0.140 1 0.140
- % T 675X 75 0.440 1 0.440
F & 1T 5 % » 75X ¢ 75 0.440 3 1.320
Z2NE VA T ¢ 75X 250L 3
W & | ¢ 1
A7 v e R | 00N 2
# T oL W ok & H 1
AT L AR TR X ke HO 2
1H k LS £ | ¢500Xx690H 2 (EETe)
HE 7K 7 f | ¢500Xx690H 1 (FEZT)
ik i 675 0.190 1 0.190
] = 51 w 675 0.020 1 0.020
~ L R % O | 9l00X $75 0.410 1 0.410
51 & 1 1= ¢ 75 0.080 1 0.080
Y 7 h¥ = v AR 8l | AL 975 0.490 4 1.960
Y7 kY — A5 Wz ¢ 75 0.180 4 0.720
It 8 f - JE f |H=510~690mm| MR 8
£ & il il RGE 19
% = il i T4 0.029 13 0.377
B = il il PU> 7 0.180 7 1.260
% = il AT GU> 7 15
77 vV M4 A ¢ 75 1

=

noH e CE B )

GXIE ¢ 75




MEHRE

GXJ% ¢ 100mm i Hl T R 6.989
DP=1.2m AR R 6.989
# ¥t Bl & MEHER B = HE 53
H g g GX& 2.000 1 2.000
Z ) it GX* 1.360 1 1.360
Z 15 & GX# 1.450 1 1.450
Z ) et GX& 1.210 1 1.210
i & 22 1/2° 0.380 1 0.380
i = il (=4 45° 0.160 1 0.160
ik i ¢ 100 0.200 2 0.400
B &) il il BpE 1
% = gl il FA4F 0.029 1 0.029
Bz &) il i GUr” 7

FCD = i e K#¥ ¢ 100 1




b)) & R OE GXJZ ¢ 75mm L.=4.0m/A

R 80 2EE | ZEEG) B Il
1 3.500 iy 0.500 1
2 1.600 2.280 4 0.120 2
3 2.500 1.500 0.000 1
4 1.780 2.000 4 0.220 2
5 2.580 1.200 4 0.220 2
6 1.700 iy 2.300 1
7 1.500 2.500 0.000 1
8 2.080 1.830 4 0.090 2
9 2.960 1.000 4 0.040 2
10 2.880 iy 1.120 1
11 1.500 1.500 4 1.000 2
12 2.580 iy 1.420 1
13 1.000 2.800 4 0.200 2
14
Bt 20
o) E o E GXJE ¢ 100mm L=4.0m/7
e 80 2O | 2EEG) A Il
1 2.000 1.450 ity 0.550 2
2 1.330 1.210 HH 1.460 2
3 4.000
4 4.000
5 4.000
6 4.000
7 4.000
8 4.000
9 4.000
10 4.000
B 4




g —MRHR

# £ ¢ 75mm DP=1.2m ¢ 100mm DP=1.2m i
EABIE R 271.607 6.989
[P e 3 0

0.664 0.664 0.664 0.664 0.664 0.664
Mo E| 0] 269.615] 0] 6.989) 0] 0] 276.604 |
[ &t ] 0.0 | 269.6 | 0.0 | 7.0 | 0.0 | 0.0 | 276.6 |
BB ERT—THEHHEE
-1 (23 & T5mm ¢ 100mm B
=8 # 55 0
) i 13 2
Mok & 319.6 10.4 330.0
1AKHD 4.7 5.2
[ &t ] 15.98 0.52 0 0 0 0 17|
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HIVP ¢ 50mm VP ¢ 75mm+DIP ¢ 75mm* ¢ 100mm

woE L B 1% & | B 7
EEm T EIAL VP ¢ 75 267.7 m
EEm BT EAL DIP ¢ 75 3.9 m
fEEm T EIAL DIP ¢ 100 7.0 m
WALy =V E YT ¢ 20~ ¢ 50 200 ]
= & W W T VP ¢ 75 78 i
= & W W T DIP ¢ 75 1 =
= & W W T DIP ¢ 100 2 =
% & E k£ (HIVP - VP) 4t L=25kmPA T ]
M = & WL 5 % 4.4 ni
% & & M % ( DIP) 4t L=25kmLL T [
27 7 v 7 (t) 0.2 t
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+ T % & & 7 F
@
oK
& |
¢ 50~ ¢ 20
HE 394
2SR T t=5cm 183.0 | 183.0 180
spEmREsET | ]
0.20BH t=10cmlL T 54.9 54.9 55
FEAR A EI 0.20BH 63.1 63.1 63
I T AS) 5.6 5.6 6
WET (KE 1) 0.20BH 14.0 14.0 14
HRET (AT 0.20BH 30.2 30.2 30
MRET AT N 5.6 5.6 6
¥y T B+ 29.5 29.5 30
ASHFHLSS T AS 2.7 2.7 3
HASAE | | L
T B R T t=19cm 54.9 54.9 55
EENAEY VA il (L7 ST N N R R
JE s T t=15cm 54.9 54.9 Hh
BASNET A2 |
FJE T (H8) t=5cm PK3 54.9 54.9 55
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HIVP ¢ 50~ ¢ 20

1.20

o

at

91.500

91.50
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g 397

K

HIVP ¢ 50~ ¢ 20mm DP=1.2m

AFHEE] D RL (1@ FTSH=Y) 21k (0.5%1.0%0.9=0.45n1)

@ 7 1k (0.5%1.0%0.3=0.151)
RERE AR HIVP ¢ 50~ ¢ 20 MRl 115 m
EEERRUE 0.05 m R 0.26 m pRiBE+
BIEOME 0.060 m MR 055 m FEL
R M EHME 0.060 m B 019 m  FERE
PR g 0.60 m B 015 m HERE
AS 0.05 m
PEHIIE 91.50 91.5
LSRRI T
t=>5cm 91.50 2 = 183.0
SREERR U T
As t=10cmBL T 91.50 0.60 = 54.9
F AR T
91.50 0.60 X 1.15 = 63.1
AJJHEEI T z fEPT &) &P
0.45 10 + 0.15 X 7 = 5.6
HMET (&BE+)
0.60 0.26 - 0.060 2
7 = 4 ) X 91.50 = 14.0
HET (84+)
91.50 0.60 X 0.55 = 30.2
ANHET G841
5.6
sy T4 1) F i+
63.1 30.2 =+ 0.9 = 29.5
ASHZ LG5 T
54.9 0.05 = 2.7
T B i T
FAYAREG t=19cm 91.50 0.60 = 54.9
RC-40
AT
BRIV t=15cm 91.50 0.60 = 54.9
RM-40
FET
RS ET 232 t=5cm 91.50 0.60 = 54.9
PK—3







RAETBRE

®ooE L Bl K ¥ & H7
E ke =LA L ¢ 13 6.0 m
ME B Y =V Mk L ¢ 20 67.0 m
E AL = L AR L ¢ 25 8.5 m
ME B Y =V Mk L ¢ 30 17.8 m
E AL =L AR L ¢ 40 6.6 m
MEE Y =V Mk L ¢ 50 9.6 m
RV A oK R A T DIP ¢ 75X ¢ 20 25 &P
AN NV 5 S/ NI < < V. B DIP ¢ 75X ¢ 25 3 (BB
2 N S A N - < S V. DIP ¢ 75X ¢ 30 5 &P
AN NV 5 S/ NI < < V. B DIP ¢ 75X ¢ 40 2 (BB
A N S A - = S V. DIP ¢ 75X ¢ 50 2 &P
AN NV 5 S/ NI < < V. B DIP ¢ 100X ¢ 20 1 (BB
¥R L4y K B A T DIP ¢ 100X ¢ 30 1 fi T
= 7 Hit F T ¢ 20~ ¢ 50 39 & AT
IS/ = S i SR & S ¢ 20 9 fi& AT
ST/ S S " S O N ¢ 25 2 (BB
IS/ = S i SR & S ¢ 30 3 fi& AT
ST/ S S " S N ¢ 40 1 (BB
IS/ = S i SR & S ¢ 50 2 fi& AT
= K & W f I ¢ 13 6 (BB
Ok & I LT ¢ 20 1 fi& AT
oKk B kO L ¢ 13 13 (BB
=R N = 7 N - G ¢ 20 18 AT
% 8 r ¥ — b L 91.5 m
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BERR et H— Ik ET ZAEDHET A—H—FT
ey T R R T
22 8 2 7
613 20 25 30
(Hl\jﬁ%@fwf """" 6.00 | 67.00 | % 850 | T1rs0
NETIER) 010 050
"""" 660 | 9e0 [T
Fa/KM R F R
MR ik B LEtia
H I A% L S Tl SRR s 4 rg/ozk
O g0 14 54.0
Y 2 7.0
B I e 13.0
Y O 2 5.0
Y I 2 8.0
I 2 T e e oeenaees fe
S Y 20
Y A AT
S R 6
Y R o T
R e AT
L T T e T et RU PR fi
S e 48 T
Y R AT
S R 6
Y R o T
R e AT
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Y e T
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d20X ¢ 13 6
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N < FREE
i y ikl | (e | HIVBE [HIVP@E) | ook [mamer | e [mimevrob| 2200 | THEST | cke | oS5 1T mikie /gfu svie  |ma
a BTk
i k43 P b XA | % | | m A | m PR | mo | | fEMC) pRE | | nRR | M| xnE | IR RBR | | R | fESC ) pBE | M| nRR | M| D | | R | el | B | fEs| pee | | e
[©) 13 | Ap—FT 7520 1 20 | 3.0 | 20 | 10 20 [ 40 | 20| 2 | 20| 6 20X13 | 1 20 [ 1 | 20 [ 1 |500L| 1
13| 1.0 130 | 13| 1|13 2 13| 2 1B 1| 131
® 20 R 7520 1 20 | 1.0 20 | 1.0 20 | 1 20 | 1
® 20 [HIlkAKET| 75X30 1 30 [ 1.0 | 30 | 10 30 [ 20 | 30| 2 | 30 | 2 |30 [ 1 30 | 1 30 [ 1| A1 1
@ 20 | Ap-ET 7520 1 20 [ 1.0 | 20 | 20 20 [ 30 | 20| 4 | 20| 8 |2 [ 1 20 | 2 [ 20| 1 [ 20 | 1 |s00L| 1 |2 | 1 |2 |1
® 20 B 75X 20 1 20 | 1.0 20 | 1.0 20 | 1 20 | 1
® 20 R 7520 1 20 | 3.0 20 | 3.0 20 | 1 20 | 1
@) 20 [HlkAKET| 75X50 1 50 [ 3.0 | 50 | 1.0 50 | 40 | 50 | 2 | 50 | 2 | 50 [ 1 50 | 1 5 | 1| a1 1
13 BER 75X 20 1 20 | 1.0 20 | 1.0 20 1 20 1
© 13 BB 75X 20 1 20 | 1.0 20 | 1.0 20 | 1 20 | 1
13 | Ap—FT 7520 1 20 [ 3.0 | 20 | 1.0 20 [ 40 | 20| 2 | 20| 6 20X13 | 1 20 [ 1 | 20 [ 1 |500L| 1
13| 1.0 130 | 13| 1|13 2 13| 2 1B 1| 131
() 13 BER 75X 25 1 25 | 1.0 25 | 1.0 25 1 25 1
® 13 B 7540 1 40 | 3.0 40 | 3.0 40 | 1 40 | 1
(B) 20 R 7520 1 20 | 3.0 20 | 3.0 20 | 1 20 | 1
20 B 75X 20 1 20 | 1.0 20 | 1.0 20 | 1 20 | 1
(5) 20 R 7520 1 20 | 1.0 20 | 1.0 20 | 1 20 | 1
20 BB 75X 20 1 20 | 1.0 20 | 1.0 20 | 1 20 | 1
() 13 R 75X 30 1 30 | 3.0 30 | 3.0 30 | 1 30 | 1
13 |#—IbAKRRET|  75X30 1 30 [ 1.0 | 30 | 10 30 [ 20 | 30| 2 | 30 | 2 |30 [ 1 30 | 1 30 | 1 || o1
13 R 10030 1 30 | 1.0 30 | 1.0 30 | 1 30 | 1
13 [itie 10020 1 20 | 3.0 20 | 3.0 20 | 1 20 | 1
@ 20 R 7520 1 20 | 3.0 20 | 3.0 20 | 1 20 | 1
@ 13 Ah—ET 75X20 1 20 [ 1.0 | 20 | 10 20 [ 20 | 20| 2 | 2| 6 20X13 | 1 20 | 1 | 2 [ 1 [500L| 1
13| 1.0 1310 | 13| 1 |2 13| 2 1B 1| 13| 1
@ 20 BB 75X 20 1 20 | 3.0 20 | 3.0 20 | 1 20 | 1
@ 13 | QIEHET [ 75X20 1 20 [ 1.0 | 20 | 1.0 20 [ 20 | 20| 2 |2 | 2 |2 |1 20 | 1 | 20 [ 1 |500L| 1
@ 20 BB 75X 20 1 20 | 1.0 20 | 1.0 20 | 1 20 | 1
20 i 75X 30 1 30 | 3.0 30 | 3.0 30 | 1 30 | 1
@ 13 |H—IbAKIRET|  75X40 1 40 [ 1.0 | 40 | 1.0 40 [ 20 | 40 | 2 | 40 | 2 | 40 | 1 40 | 1 40 [ 1| B| 1 1
13 |H—IbAkiRET|  75X30 1 30 [ 1.0 | 30 | 1.0 30 [ 20 | 30| 2 | 30| 2 |30 [ 1 30 | 1 30 [ 1 | &1 1
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13 |#—ibkkeET|  75%25 1 25 | 3.0 25 | 1.0 25 | 40 | 25 | 2 25 | 2 25 1 | 25%x13 | 1 25 1 25 1 |500L| 1
13 A—I—ET 75X 20 1 20 | 1.0 20 | 1.0 20 | 20 [ 20 | 2 20 | 6 2013 | 1 20 1 20 1 |500L| 1
13 | 1.0 13 [ 1o | 13 1 13| 2 13| 2 13 1 13 1
@D 20 %5 1kAARET|  75X50 1 50 | 3.0 50 | 1.0 50 | 4.0 | 50 | 2 50 | 2 50 1 50 1 50 1 AL 1 1
(%) ZIEDET 75X 20 1 20 | 1.0 20 | 1.0 20 | 20 [ 20 | 2 20 | 2 20 | 2 20 1 20 1 |500L| 1
@3 20 % 75X 20 1 20 | 3.0 20 | 3.0 20 1 20 1
3 13 |#—ibkkeET|  75%25 1 25 | 1.0 25 | 1.0 25 | 20 | 25 | 2 25 | 2 25 1 25 1 25 1 |500L| 1
(€h) 13 A—I—ET 75X 20 1 20 | 1.0 20 | 1.0 20 | 20 [ 2 | 2 20 | 6 2013 | 1 20 1 20 1 |500L| 1
13 | 1.0 13 [ 1o | 13 1 13| 2 13| 2 13 1 13 1
13 A—I—ET 75X 20 1 20 | 1.0 20 | 1.0 20 | 20 [ 20 | 2 20 | 6 2013 | 1 20 1 20 1 |500L| 1
13 | 1.0 13 [ 1o | 13 1 13| 2 13| 2 13 1 13 1
@) 20 % 75X 20 1 20 | 1.0 20 | 1.0 20 1 20 1
20 BER 75X 20 1 20 | 1.0 20 | 1.0 20 1 20 1
20 % 75X 20 1 20 | 3.0 20 | 3.0 20 1 20 1
HIVPIER (1) [ *27] 600
TUXVT VT E| 620~ - . . . . . . .
1 5 5X b X X X N
i) 550 22.5 75X 20 25 13 | 6.0 13 [60 | 136 13|12 | 13| 0 |20x13]| 6 13| 12 13| 6 13| 6 25 1 1
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Ah—ETHE 7 100 20 1 50 | 6.0 50 | 2.0 50 | 80 | 50 | 4 50 | 4 50 | 2 50 | 0 50 | 2 50 | 0 50 | 0 50 | 2
KK T 13 13T 100X 25 0
HAKE PR T 20 18fH T 100 %30 1
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4 Y g | VPGB | HISET—X | HIF—X | | T g ([ HZZ T A e TCRy | T i ptkie [ TS
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M 4w | B B lne| m |nmxnm|  mm | nexnee| msc | nee| e | nee | s | nee | s | nee | s | nee | e | nee | | s i3 s g | Ak | s | o | e
@ 13 ERR 20 20 2.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 ERR 20 20 4.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 ERR 30 30 4.0 50X 30 1 30 2 30 1 30 2 30 1 30 1 1
@ 20 ERR 20 20 4.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 ERR 20 20 4.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 ERR 20 20 2.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 ERR 50 50 2.0 50X 50 1 50 2 50 1 50 2 50 1 50 1 1
13 ERR 20 20 4.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
@ 13 ERR 20 20 4.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
13 ERR 20 20 2.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
@ 13 ERR 25 25 4.0 50X 25 1 25 2 25 1 25 2 25 1 25 1 1
@ 13 ERR 40 40 2.0 50X 40 1 40 2 40 1 40 2 40 1 40 1 1
@ 20 ERR 20 20 2.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 ERR 20 20 4.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 ERR 20 20 4.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
20 ERR 20 20 4.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
@ 13 ERR 30 30 2.0 50X 30 1 30 2 30 1 30 2 30 1 30 1 1
13 ERR 30 30 4.0 50X 30 1 30 2 30 1 30 2 30 1 30 1 1
13 ERR 30 30 4.0 50X 30 1 30 2 30 1 30 2 30 1 30 1 1
13 ERR 20 20 2.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 ERR 20 20 2.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
@ 13 ERR 20 20 4.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 ERR 20 20 2.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
@ 13 ERR 20 20 4.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 ERR 20 20 4.0 50X 20 1 20 2 20 1 20 2 20 1 20 1 1
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4 Y g | VPGB | HISET—X | HIF—X | | T g ([ HZZ T A e TCRy | T i ptkie [ TS
0| dakE|n -
M 4w | B B lne| m |nmxnm|  mm | nexnee| msc | nee| e | nee | s | nee | s | nee | s | nee | e | nee | | s i3 s g | Ak | s | o | e
20 BER% 30 | 30 | 2.0 50X 30 1 30 | 2 30 [ 1 |30 |2 |3 |1 [3]1 1
13 BER% 40 | 40 | 4.0 50 X 40 1 40 | 2 40 [ 1[40 | 2 |40 | 1 |40 | 1 1
13 BER% 30 | 30 | 4.0 50X 30 1 30 | 2 30 [ 1 |30 |2 |3 |1 [3]1 1
13 BER% 25 | 25 | 2.0 50X 25 1 25 | 2 25 | 1 |25 | 2 |25 |1 |25 |1 1
13 BER% 20 | 20 | 4.0 50X 20 1 20 | 2 20 [ 1 |20 2 |20 |1 |2 |1 1
@D 20 BER% 50 | 50 | 2.0 50 X 50 1 50 | 2 50 [ 1 |50 | 2 |5 | 1 [5 |1 1
@
€B) 20 BER% 20 | 20 | 2.0 50X 20 1 20 | 2 20 [ 1 |20 2 |20 |1 |2 |1 1
@D 13 BER% 25 | 25 | 4.0 50X 25 1 25 | 2 25 [ 1 |25 | 2 |25 |1 |25 |1 1
€5 13 BER% 20 | 20 | 4.0 50X 20 1 20 | 2 20 [ 1 |20 2 |20 |1 |2 |1 1
13 BER% 20 | 20 | 4.0 50X 20 1 20 | 2 20 [ 1 |20 2 |20 |1 |2 |1 1
@D 20 BER% 20 | 20 | 4.0 50X 20 1 20 | 2 20 [ 1 |20 2 |20 |1 |2 |1 1
20 BER% 20 | 20 | 4.0 50X 20 1 20 | 2 20 [ 1 |20 2 |20 |1 |2 |1 1
20 BER% 20 | 20 | 2.0 50X 20 1 20 | 2 20 [ 1 |20 2 |20 |1 |2 |1 1
& 50X 25 X2 50 | 50 | 570.0 50X 50 4 50 | 20 | 50 | 8 | 50 |142 | 50 | 25 50 | 11 2 2 2 11 DIP100X50] 4 | 50 | 4
TR 382.0 13 50X 13 13 13 13 13 13 13
20 | 82.0 50X 20 25 20 | 50 | 20 | 0 |20 |25 [20 [50 [20 |25 |2 |25
BERx B 381 25 | 10.0 50 % 25 3 25 | 6 25 | 0 25 | 3 25 | 6 25 | 3 25 | 3
(R G 1 T AE ] 122.0 30 | 20.0 50 % 30 6 30 | 12 |30 | 0 30 | 6 30 [ 12 [ 30 | 6 30 | 6
FaRE R 1T 13 19f& AT 40 6.0 50 X 40 2 40 | 4 [ 40 | 0 [40 | 2 [40 | 4 [40 | 2 |40 | 2
FaRE R 1T 20 19f& AT 50 | 574.0 50 % 50 6 50 | 24 | 50 | 8 50 | 144 | 50 | 29 | 50 | 2 50 | 13 DIP100X50 4 | 50 | 4
FaRE R 1T 25 Of&i T
MAKEWETL | 30 Of&i T
HAKEWE L | 40 Of&iFT
FaKE R L 50 Ofi&i FT 7k | 692.0 it 36 # 6 B 9% | 7 8 #1180 | & [101 | F 38 | & 49 | F 2 B 2 B 2 3 49 7 4 !
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3cm 0.078 0.0000
4cm 0.104 0.0000
S5cm 0.130 1274.0 1.6562
bcm 0.152 0.0000
Tcm 0.174 0.0000
10cm 0.240 0.0000
llecm 0.262 0.0000
15cm 0.350 0.0000
20cm 0.460 0.0000
25cm 0.570 0.0000
26cm 0.592 0.0000
30cm 0.680 0.0000
i 1274.0 1.6562

EXe 1.66




